[ Efficiency vs vertpos |

Ratio

=

0.8f} -

1072 10 1 10 0?
TP vertr (cr%)

MKFEITS_T |oTu-|owr)t
mkFit_TT_retrain-lowpt
mkFit_TTold-lowpt

mkFit TT_NEWdefault_specPLess3-lowpt

<4

DQ
DQ
Efficiend —— B3

~n 0.2
LT R R S R
%] C . . . . .
Z0.16------ AR R i P
> . . . . .

20 14E : : : : :
T S pm p
o L . . . .
(=3 ) SRR SR U NS I SR
¢ F : ; : :
0.1------ e P T
0.08F -} f : S

OT AR {1 O S |
0.04 ;
0.02

+Q
1.2

Ratio

1.1

1

-20 -10 O 10 20 30
TP vert z (cm)

|
w
o

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.0 : : : :
0008+ |-fros oo B
G..|.|...

Ratio

I i1

e
4
——
Sood

H
Hrrriprr
:
N
4
=
¥
A
B
=
P
——

o
©
TTT

|
N

0 =15 =10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


